NN
b=

FRIERGABEASTIOYIARR/ 2 0 2 3FEREFIEAR

EERJOvD - REBSFRSO—-A (K-1)

PRARER

B {+:[2023/06/04)

IEAE Bibs BFEL i B 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 3 Time Point Result &%
0 1:02.39  62.39
1 15 = W ERE 61.53
0 1:01.53  61.53
2 1:04.83  66.83
2 14 Sl A FER 64.24
0 1:04.24  64.24
0 1:08.20  68.20
3 13 iR AE R 66.05
0 1:06.05  66.05
0 1:08.22  68.22
4 12 BA T AR 68.22
2 4 1:05.15  69.15
s 11 S Z — 2 2 2 2 8 1:19.67 87.67 6767
A 2 2 6 1:46.89 112.89
50 54 1:31.53  145.53
6 10 AR BB TEmE 144.67
2 2 2 50 58 1:26.67 144.67
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ff’ﬁ@ﬁﬁr‘fﬁﬁ B {t; [2023/06/04)

FRIERGABEASTIOYIARR/ 2 0 2 3FEREFIEAR
MHERIJOvY - BREBFASO—A (C-1)

IEAE Bibs BFEL i B 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 3 Time Point Result &%

0 1:05.41 65.41

1 20 AR FE FER 65.41
2 2 4 1:05.78 69.78
2 2 4 1:17.31 81.31

2 19 HHE M BER 80.46
2 2 1:18.46 80.46
50 50 1:34.98 144.98

3 17 ME #— HRE 107.64
2 2 4 1:43.64 107.64
B = 2 2 4 1:50.30 114.30

4 18 EHE TR e 114.30
E) 2 50 52 1:29.61 141.61
2 50 50 50 50 50 252 1:44.26  356.26

5 16 FE OB TR 356.26

DNF
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TRERIER
BRERABARIOYIAR/ 2 0 2 3FEREFIEAR
BEIOY Y - REZFASO—L (K- 1)

B {+:[2023/06/04)

IEAE Bibs BFEL i B 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 3 Time Point Result &%
e 2 2 1:09.06  71.06
1 24 7' <3 5D 71.06
7 2 4 1:09.53  73.53
— 2 1:14.87  76.87
2 23 BR <3 AR 75.78
7 2 1:13.78  75.78
0 1:19.11  79.11
3 22 =l UEE FEER 79.11
2 2 4 1:18.55  82.55
— 2 4 1:39.41  103.41
4 21 BEEH BK — 103.41
¥ 50 2 54 1:52.78  166.78
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T pIETR

FRIERGABEASTIOYIARR/ 2 0 2 3FEREFIEAR

EERJOvD - REFEZFRASO—-A (C-1)

B {+:[2023/06/04)

IET Bibs EFZ = 1 2 3 4 5 6 7 8 11 12 13 Time Point Result &%
2 50 50 50 202 2:05.69  327.69
1 26 BE O AR 109.45
2 1:47.45  109.45
5 25 Wl BB _— 2 2 1:52.71 114.71 4
El 50 2 52 1:49.23  161.23
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